Standard BAL-013-0 — Primary and Secondary Control

Definitions:

Primary Control: [See final definitions in Frequency Response Initiative document – but for now:] Automated rapid actions taken jointly by all the BAs on the Interconnection to arrest frequency in response to a frequency deviation.  Primary Control consists of generator governor response, load response (typically from motors), and immediate response by other devices governed by local (device-level) control systems.
Secondary Control: [See final definitions in Frequency Response Initiative document – but for now:] Actions taken by an individual BA or its Reserve Sharing Group to either enable withdrawal of Primary Control Response and restore frequency from the Arrested Frequency back to Scheduled Frequency or otherwise maintain ACE at or near zero.  Secondary Control consists of manual or automated dispatch from a centralized control system.

Introduction

1. Title:
Primary Control
2. Number:
BAL-013-1
3. Purpose:

To ensure resources providing Primary Control meet certain minimum performance characteristics.
NOTE – THIS SHOULD PROBABLY BE TRANSFERRED TO THE FRRSDT OR FRI, SINCE WE ARE PULLING THE SECONDARY RESPONSE PIECES INTO THE CR AND R STANDARDS.
4. Applicability:

4.1. Balancing Authority
5. Effective Date:
TBD
B. Requirements

R1. Each Balancing Authority shall use for Primary Control only those resources that meet the following  criteria:

1.1. Proportionality: The power response of the resource must be proportional to the frequency change.
1.2. Continuity: The power response must be capable of delivery within a specific frequency range , and continuous within that whole frequency range 
1.3. Directionality: The resource must be capable of responding to both decreasing frequency (by increasing system supply or lowering system demand) and increasing frequency (by increasing system demand or lowering system supply).
1.4. Sustainability: The resource must be capable of sustained response over at least 15 minutes.

1.5. Responsiveness: The resource must be capable of detecting frequency locally (at the resource location) and responding to frequency changes automatically (i.e., upon occurrence of the frequency change, the resource should initiate action that will lead to delivery of frequency response) with no human action required. The resource shall have either: 
· No dead-band, or 
· If equipped with a mechanical governor, a dead-band of .034 Hertz or less, or 
· If equipped with any other type of governor with dead-band fixed around 60 Hertz or adjustable to around other frequencies, 
a dead-band of .017 Hertz or less. 
C. Measures










�Purpose of this requirement is to specify the characteristics of resources that provide Primary Control to ensure the primary response arrests the decline and maintains a stable, reliable frequency until secondary resources can return frequency to the scheduled value.


�Is this correct?


�Why is this addition important?  It says the governor must be fixed or adjustable, at or around 60 hertz or at or around other frequencies.  Doesn’t that just mean everything?
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